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Function02 for No.10044

M
. a
NoJ - A=(y=-4x+T7) .3:()/:;—3} .5=(x—3y—18=0)’ }tl
2=(6x-5y+15=0) 4=3x-y+17=0) Ob=(y=—x-2) )
L:D ]
a_
|
?,,,f”!,/‘ i
L

va b
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Function02 for No.10044 (continue)

1
1

M
(Eq=[y=-x-2]] (Eq=[3x-y+17=0]] ‘;
A:(57_7) A:(_Saz) ]’l
No2=| B=(4,-6) |, ,No3= B=(-4,2) ol
C=(-1,-4) C=(3,26) v
D: 2 - D: -
L (2,-7) L (-3,5) J U
| T
Nod4 : 4.1 > S = 130 , R =17
: 4.2 > S = 8200 , R=23
No5 : N = 29000 , R=5 , Y = 2565
No6 : P = 140 , F = 23000 , V. = 60 , N = 278
~ D(p):—17p+7577}
NO7‘[ S(p)=25p +4175
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Function02 for No.10127
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T
a

NO]Z[ I=(y=3x+14) 3=(x+2y-8=0) .5=(y=—2x—5)} t
2=(A4x+3y+15=0) 4=(x+y-7=0) 6=(=—=x+2)_L| h

2)

L:D ]

10
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Function02 for No.10127 (continue)

1
1

M
(Eq=[y=3x+14]] (Eqg=[x+y—7=0]] ‘;
A=(-4,2) A=(-5,12) ,
No2=| B=(5,29) | ,No3= B=,7) | g
C=(-2,7) C=(43) M
D=(-1,11 D=
L (-1, 11) ] L 0,7) | U
| 7]
Nod4 : 4.1 > S = 140 , R=3
4.2 > S = 8900 , R =06
No5 : N = 23000 , R = 6 , Y = 2567
No6 : P = 150 , F = 20000 , V. = 60 , N = 218
~ D(p):—21p+6350}
NO7‘[ S(p)=23 p +4150

X [Page = 0002] XXXXXXXXXXXXXXKKXKXKXXKXXKXKXKXKKKKKXKKKKKXKXKXXKKXXX XXX XXX XXXXXXKKKKX



Function02 for No.10305

A=(x-y+2=0)
=
Nol=l 5 (y=—3x—14)
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M
3=(y=3x+95) S=B3x-y-6=0)

x
4=2x+3y-6=0) .6= y:—§+2 ’

RN IREAR
%

/

10
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Function02 for No.10305 (continue)

1
1

M
[Eq=[y=-3x-14]] [Eq=[2x+3y-6=0]] ‘t‘
A=(5,-29) A=(3,0) h
No2 = B=(3,-22) |, ,No3= B=(-15,11) e
C=(0,-17) C=(6,-2) by
. D=(3,-5) | L D=(12,-8) |
U
| T
No4 : 4.1 > S = 140 , R=23
: 4.2 > S = 10400 , R =4
No5 : N = 17000 , R = 8 , Y = 2566
No6 : P = 160 , F = 21000 , V. = 50 , N = 206
~ D(p):—15p+7215}
NO7‘[ S(p)=23 p + 4137
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Function02 for No.10491

d=(x+4y+20=0)

NOI:[ 2=(y=—4x+18)

3=(=—~x+3)
4=2x+5y+30=0)

10— \

S=2x+5y+10=0)
O6=(y=3x+7)

|

M

b‘gwna
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Function02 for No.10491 (continue)

M
[Eqg=[y=3x+7]] [Eq=[2x+5y+30=0]] ‘t‘
A=(4,20) A=(25,-16) i
No2=| B=(-3,-2) | ,No3= B=(-10,-2) e
C=(-5,-8) C=(0,-6) M
L D=(3,17) | L D=(-5,-2) J
U
| T
Nod4 : 4.1 > S = 170 , R=0
: 4.2 > S = 10400 , R =4
No5 : N = 25000 , R =11 , Y = 2567
No6 : P = 130 , F = 22000 , V. = 30 , N = 218
~ D(p):—20p+6160}
NO7‘[ S(p)=19 p + 4288
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Function02 for No.10782

Nol = ']:(y:Z

]

3=(y=2x+14)

2=(M4x+y-4=0)

4=3x-4y—-4=0)

et
\\
%y o
5

/’K
/ \f
\
b/

M

a

S=(M4x+y-6=0)|| ¢
| h

-6::(y::fx"4) J
L:DJ

A
N

/ N
/
/
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Function02 for No.10782 (continue)

1
1

M
[Eq=[y=2x+14]] (Eq=[4x+y—4=0]] )
A=(-5,4) A=(-1,8) h
No2=|  B=(46) | ,Nes=| B=(210) | |2
C=(2,18) C=(-3,17) v
| D=(522) | .l D=(3,-8) |
U
| 7]
Nod4 : 4.1 > S = 160 , R =25
4.2 > S = 9400 , R=14
No5 : N = 18000 , R =9 , Y = 2565
No6 : P = 140 , F = 19000 , V. =140 , N = 196
~ D(p):—23p+6643}
NO7‘[ S(p)=21p + 4839
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Function02 for No.11040

M
I 320) 3 ( o 6j 5 2p-12=0 )
Not=| /=0 #x=320) 3={y==" 6] am(m2y-12=0)| ] !
.2:(y:—4x+1) .4:(3x—y+15:0) -6:(_)/’:—4)6—4) )

D
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Function02 for No.11040 (continue)

1
1

] _ M
5x - _ a
Eq= y:—?+6 Eg=[x-2y-12=0] ;
| | A4=(0,-8) ,
No2 = =C6.13) 1 Ne3=|  B=(-10,-11) | |
B=(30,-19) _ @
C=(-6,-7)
C=(6,0) _ M
. D=(8,-2)
| D=(-24,26) | U
L 7]
Nod4 : 4.1 > S = 170 , R =17
4.2 >S5 = 8000 , R=14
No5 : N = 14000 , R = 06 , Y = 2565
No6 : P = 150 , F = 17000 , V. =140 , N = 147
~ D(p):—28p+8430}
NO7‘[ S(p)=27p + 3755
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Function02 for No.11048

M

X
.12(y2—5—4j .3:(3x—4y+16:0) -5:(X—y+420) Ctz
Nol= 3x > h
2= y:T—2 4=(y+4x-1=0) .6=(y=2x+18) )
LD ]

\ / /_/’//
W // Br
"
. Fal.d
4/,

//
o
A

Vs

\\ R
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Function02 for No.11048 (continue)

M
r . a
[y } Eg=[y+4x—-1=0] ;
iy A=(4,-15) .
No2=| A=(16-15) ) s B=(0,1) o
=(-12,-10) B @
C=(-5,21)
:(20,13) D=(.1.4) M
D=(12,7) | - ’ - U
L 7]
Nod4 : 4.1 > S = 190 , R =17
4.2 > S = 9600 , R =06
No5 : N = 17000 , R =11 , Y = 2568
No6 : P = 150 , F = 17000 , V. = 30 , N = 140
~ D(p):—13p+6441}
NO7_[S(p)=18p+4674

X [Page = 0007] XXXXXXXXXXXXXXKKXKXKXKXKXXXKXKKXKKKKKKKKKXKXKKXXKXKXXX XXX XK XX XXXKKXKKKKX



),0:9:9.0:9:9.0,9:9.9.0:9.:9.9:9.:9.9:9.:9,0:9.:9,0:9.:9.0,9:9.0,9:9.0.0:9.9.9:9.9,0:9.:9,0:9.:9,0:9.:9.0:9:9.0,9:9.0,9:9.0.0:9:0.0:9:9.0:9:0.0:9.0.0.9:0,0,0:¢

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXKXXXXXXXXXXKXM5/2-6800402-00008XX
Function02 for No.11107

M

.]:(y=3x+16) ,3:(3x+y—6:0) ‘5:(y:_x_5) a

Nol = 3 x ’ t
2=3x-5y-30=0) 4=(x+4y+4=0) 6= y:?+1 h

?)

L:D
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Function02 for No.11107 (continue)

1
1

M
(Eqg=[y=3x+16]] (Eq=[x+4y+4=0]] ‘;
A=(-5,1) A4=(20,-5) ,
No2=|  B=(3,7) | ,Nes=| B=(163) | |2
C=(2,21) C=(0,-1) Y
D=(-1,1 D=(-8,1
L D=(113) _ s 1|
| 7]
Nod4 : 4.1 > S = 140 , R =3
4.2 > 5 = 9700 , R =06
No5 : N = 15000 , R =11 , Y = 2566
No6 : P = 160 , F = 23000 , V. = 30 , N = 169
~ D(p):—18p+7418}
NO7‘[ S(p)=29 p + 5021
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Function02 for No.11419

M
a

NO]Z[ I=(y==x+1) 3=(x+2y+2=0) .5:(3x—5y—5=0)} t
2=(4x-y+20=0) 4=(y=-2x+5) b6=(y=—x-3) | h

2)

:D
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Function02 for No.11419 (continue)

1
1

M
(Eq=[y=-2x+5]] (Eq=[3x-5y-5=0]] ‘;
A=(-5,15) A=(5,2) ,
No2 = B=(0,8) | ,No3= B=(20-13) | |0
C=(-3,11) C=(20,11) Y
| D=(5-5) | | D=(-10,-10)
U
| T
Nod4 : 4.1 > S = 130 , R =14
4.2 > S = 8900 , R=23
No5 : N = 26000 , R =17 , Y = 2568
No6 : P = 170 , F = 17000 , V. =70 , N =170
~ D(p):—20p+5940}
NO7_[S(p):21p+4218
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Function02 for No.11424

M

X a
.2:(y:—2x—7) .4:(6x—5y—30:()) -6:(X—y+3:()) )
L:D ]

/s 10
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Function02 for No.11424 (continue)

X

1
1

M
(Eq=[y=-2x-7]] (Eq=[2x+y+4=0]] ‘;
A=(1,-9) A=(0,-4) h
No2=| B=(-5,0) |, ,No3= B=(4-12) | |0
C=(2,-11) C=(-3,2) Y
D=(-1,- D=(-4,2
(-1,3) _ C T
| 7]
Nod4 : 4.1 > S = 180 , R =17
4.2 > S = 6900 , R=14
No5 : N = 25000 , R = 8 , Y = 2571
No6 : P = 130 , F = 22000 , V. = 60 , N = 311
~ D(p):—19p+6647}
NO7_[S(p)=18p+4316
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Function02 for No.11470

M
3x a

A=2x+y+7=0) 3=(+x-1=0) S=|y=—"T+2
2 t

Nol = ,

X h
2=(x+y+1=0) 4=(y=2x+15) .6:( :—g—lj )
:D

A\ \ /
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Function02 for No.11470 (continue)

1
1

) _ M
X - b a
Eq:[yz—g—l} Eq=[y+x-1=0] ;
4= (151 A4=(2,-4) h
No2 = =CIS D) Ne3=| B=3,2) |,
B=(3,-2) _ @
C=(-4,5)
C=(15,-6) _ M
. D=(0,1)
D=(-6,1) | U
LT
Nod4 : 4.1 > S = 130 , R =25
4.2 > S = 8400 , R=23
No5 : N = 29000 , R = 10 , Y = 2570
No6 : P = 160 , F = 21000 , V. =140 , N = 161
~ D(p):—28p+8494}
NO7‘[ S(p)=23 p + 4771
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Function02 for No.11472
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M
d=(y=x-3) 3=Qx-y+2=0) S5=CBx+y-1=0)]] ¢
R Rk
2=ly=—"=-7| 4=2x-y+17=0) .6=|y=—"+6 h
4 5 2)
D]
10+ /
a_
ERRN R aaEans”
/ ' /
/2/ //
/0 5 10
-2
e /
e e .
/ F T / 6
s o
M ——
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Function02 for No.11472 (continue)

1
1

i i M
X - - a
qu{yz—z—7} Eq=[2x-y+17=0] ;
p 4=(-4,8) L
No2 = =39 | Ne3-= B=(4,25) -
B=(-12,-7) B @
C=(-1,12)
C=(-20,-2) ~ M
. D=(2,13) |
. D=(4,-8) U
L 7]
Nod4 : 4.1 > S = 130 , R =06
: 4.2 > S = 8100 , R =06
No5 : N = 23000 , R =11 , Y = 2569
No6 : P = 160 , F = 20000 , V. =140 , N =172
~ D(p):—15p+7370}
NO7‘[ S(p)=13 p + 5186
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Function02 for No.11523
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oy
a
NO]_[ 1=(y=—x) 3=(y=-2x+16) .5=(y=4x+5)} t
TL2=(2x+5y+10=0) 4=(x-2y-14=0) .6=(x—2y+4=0)| h
)
L:D]
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Function02 for No.11523 (continue)

1
1

M
(Eg=[y=-2x+16]] (Eqg=[2x+5y+10=0]] ‘;
A=(-3,25) A=(-25,8) h
No2 = B=(2,12) . ,No3= B=(15,-7) e
C=(-2,20) C=(-5,2) by
L D=(0,16) L D =(-20,6) _ U
L 7]
Nod : 4.1 > S =170 , R=0
4.2 > S = 8400 , R=17
No5 : N = 21000 , R =9 , Y = 2569
No6 : P = 120 , F = 21000 , V. =70 , N = 418
~ D(p):—19p+6612}
NO7‘[ S(p) =20 p + 4740
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Function02 for No.11549

M
d=(y=—x+1) 3=Qx+y+1=0) S=(x+2y-12=0)]| ¢
NO]Z S5x , t
2=(r=2x+20) 4=|y=-"7-1] 6=(Sx+3y+6=0)]| h

2)
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Function02 for No.11549 (continue)

1
1

M
(Eqg=[y=—x+1]] (Eq=[5x+3y+6=0]] ‘;
A:(Oal) A:(_658) ]’l
No2=| B=(1,-2) | ,No3= B=(9,-19) S
C=(-1,0) C=(9,11) Y
| D=(4,-3) | | D=(-15,23) U
L 7]
Nod4 : 4.1 > S = 140 , R =17
4.2 > S = 8900 , R=25
No5 : N = 23000 , R=5 , Y = 2568
No6 : P = 180 , F = 22000 , V. = 30 , N = 151
~ D(p):—27p+7247}
NO7_[S(p):29p+3831
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Function02 for No.11925

A=(y=—=x-2) 3=(4x+y—-4=0) S=(x+y-5=0)

] = X
No .2=(y=z—3] A=(y=4x+19) 6=(5x+3y+15=0)[

Ve
//

Eji; = - Ei

/ [N
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Function02 for No.11925 (continue)

1
1

i . M
X - b a
Eq:[yzz—3} Eq=[x+y-5=0] ;
4= (16.1 A4=(2,3) h
No2=| A=061)  ns | p_(s.10) |,
B=(-16,-7) B @
C=(-1,6)
C=(-8,-5) _ M
. D=(52) |
D=(-12,-9) | U
L T
Nod : 4.1 > S =170 , R=25
4.2 > S = 7800 , R=14
No5 : N = 28000 , R =9 , Y = 2568
No6 : P = 120 , F = 22000 , V. =140 , N = 280
~ D(p):—24p+7190}
NO7‘[ S(p)=29 p +4010
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Function02 for No.11935

3x 3x
A=2x-y+19=0) .3= y:—7—3 5= y:_7_4

Nol =
2=(M4x+y+6=0)

NN
N\ \\
\\

aY

X
L\\
\
\_\\

N

M

b

(y=§—3j G=(x+y—4=0)

'b"\;b‘wa

10

21 /

0 : 10

- \§
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Function02 for No.11935 (continue)

1
1

i . M
X - b a
Eq:[y:——3} Eg=[4x+y+6=0]
2 t
P A=(-2,-1) i
No2=| A=(6-3)  Nezol B=(0,6) | .
B=(-6,-6) B @
C=(-4,12)
C=(-2,-4) ~ M
. D=(1,-10) |
D=(10,2) | U
L T
Nod : 4.1 > S = 150 , R=5
: 4.2 > S = 8600 , R =06
No5 : N = 19000 , R = 11 , Y = 2571
No6 : P = 120 , F = 22000 , V. =140 , N = 261
~ D(p):—16p+7884}
NO7‘[ S(p)=15p + 5590
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Function02 for No.12183

A=(y=x+7)

] = X
No 2:( =;—5] A4=(5x-6y+6=0) .6=(4x—-y+20=0) [

3=(y=-3x-6)

M
S=(5x-6y-18=0)

SQ,NNQ
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Function02 for No.12183 (continue)

1
1

M
(Eq=[y=x+7]] [Eq=[5x-6y+6=0]] ‘t‘
A=(2,9) A=(-18,-17) ,
Noz=| B=(L8) | .Noi=|  B=(-6-4) | o
C=(-41) C=(24,21) Y
D=(3,10) . D=(-12,-9) | U
| T
Nod4 : 4.1 > S = 140 , R=14
: 4.2 >SS = 10600 , R =7
No5 : N = 28000 , R =5 , Y = 2568
No6 : P = 140 , F = 21000 , V. =140 , N = 211
~ D(p):—17p+7431}
NO7‘[ S(p)=25p + 5625
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Function02 for No.12246

F ]
X a

1=Q2x-y=0)  3=(2x-y+2=0) S=|y=T+6||"

Nol = 5, |
.2=(3x+y+16=0) 4 = y:?_?, '6:(y:_x_1) )

L:D ]

™
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Function02 for No.12246 (continue)

i i M
5x - _ a
Eqg= yz?—3 Eq=[2x-y+2=0] ;
L= (12 4=(3,9) h
No2 = =(2,7) 1 Np3— B=(1,4) o
B=(-12,-13) B @
C=(0,2)
C=(24,15) B M
. D=(4,-6) |
L D=(-30,-28) U
L 7]
Nod4 : 4.1 > S = 180 , R =17
: 4.2 > S = 8100 , R=23
No5 : N = 28000 , R =5 , Y = 2566
No6 : P = 120 , F = 17000 , V. = 30 , N = 187
~ D(p):—15p+6980}
NO7‘[ S(p) =16 p + 4438
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Function02 for No.12332
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/

M
( Sx j a
d=|y=—"-1| 3=(5x-2y-10=0) S5=Bx-y+19=0)
2 t
Nol = . 1
2=(x+y-5=0) A4=(y=-4x-5) .6:()/:—2—2} B
LD
10+ / /
/
N
/ /
~g
\Hﬁ |
5 10
.jfhhh““wunnﬁﬁ
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Function02 for No.12332 (continue)

1
1

i i M
X - - a
qu{yz—z—Z} Eg=[3x-y+19=0] ;
P A=(-1,15) .
No2 = =(12,-5) 3o B=(-4,7) .
C=(4,-6) (A M
. D=(3,12) |
. D=(20,-7) U
L 7]
Nod : 4.1 > S = 150 , R=3
: 4.2 > S = 9800 , R=25
No5 : N = 21000 , R = 6 , Y = 2570
No6 : P = 170 , F = 21000 , V. = 50 , N = 183
[D(p)=-26p+ 8908}
NO7‘[ S(p)=29 p + 4343
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Function02 for No.12682

M

X 3x a

NoJ = .]=(y=—;+2} .3:(y:—?+2J S=(y=4x+20) ’ t
2=(x+y+1=0) 4=2x+y=0) .6=(x+3y-9=0) }j

:D

-10- \
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Function02 for No.12682 (continue)

1
1

M
(Eq=[y=4x+20]] (Eq=[x+3y-9=0]] ‘;
A=(0,22) A=(-6,6) ,
No2=| B=(4,36) | ,No3= B=(3,2) ol
C=(-4.4) C=(3.4) by
| D=(3,30) | . D=(-15,6) U
L 7]
Nod : 4.1 > S = 150 , R=3
: 4.2 > S = 9000 , R=14
No5 : N = 28000 , R =090 , Y = 2567
No6 : P = 130 , F = 20000 , V. = 50 , N = 258
~ D(p):—14p+5938}
NO7‘[ S(p) =13 p + 4804
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Function02 for No.13022

Nol
2=(y=x-3)

X
| 1=(5x-4y+24=0) 3=(4x+y+16=0) .5=(y=—+3J

4=(y=x+2)

M

a

t

2 h
O6=3x-y—-4=0) 9
L:D ]

[
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Function02 for No.13022 (continue)

1
1

) ] M
X - b a
Eqg= y:5+3} Eg=[3x-y-4=0] ;
P A=(-2,-10) ,
No2 = =(6.6) | Np3- B=(0,-6) |
B=(8,7) _ @
C=(-1,-7)
C=(-6,0) _ M
. D=(5,11) |
. D=(2,1) U
LT
Nod : 4.1 > S = 150 , R=3
4.2 > 5 = 7700 , R=25
No5 : N = 20000 , R =7 , Y = 2571
No6 : P = 130 , F = 23000 , V. = 50 , N = 290
~ D(p):—22p+6510}
NO7‘[ S(p) =13 p + 4585
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Function02 for No.13650

; ( S5x 6j
Nol=| "7\WVT ¢~
2=3x+y+3=0)

I=(y=—x-3)
4=(x—-4y—-12=0)

10

M
a
S=(py=-3x-95) t
| A
b6=(4x-y+14=0) )
LD ]
> g
z’/

.//’

A
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Function02 for No.13650 (continue)

1
1

i . M
5x - _ a
Eq= y:?—6 Eq=[4x-y+14=0] ;
A=(12,4 4=(4,30) h
No2 = =(12,4) 1 Np3= B=(-4,2) |
B=(-6,-11) B @
C=(1,21)
C=(-30,-34) _ M
L D=(-2,8) ]
D=(18,8) | U
L 7.
Nod4 : 4.1 > S = 190 , R =14
: 4.2 > S = 10400 , R =5
No5 : N = 29000 , R = 6 , Y = 2570
No6 : P = 150 , F = 20000 , V. =140 , N = 189
~ D(p):—21p+7860}
NO7‘[ S(p) =16 p + 5640
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Function02 for No.13655

M
Sx a
A=|\y=—""+7 I=(x-y+2=0) S5=(x-y+7=0)
6 t
NOI: 5
X h
2=2x+y-17=0) 4= yz;} O=(y=4x-3) )
L:D
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Function02 for No.13655 (continue)

X

M
(Eq=[y=4x-3]] (Eq=[x—-y+7=0]] ‘t‘
A=(-3,-15) A=(-1,6) ,
No2=| B=(517) | ,Ne3=| B=(26) | .|
C=(1,1) C=(2,10) Y
D: D:
L (3,6) L (0,7) J U
| T
Nod : 4.1 > S = 150 , R=5
: 4.2 > S = 7400 , R=25
No5 : N = 13000 , R =9 , Y = 2569
No6 : P = 150 , F = 17000 , V. = 50 , N =174
~ D(p):—21p+7107}
NO7‘[ S(p)=16p + 4628
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Function02 for No.13667

M
t
Nol = 5x ,
2= :T .4:(2x—y:0) _6:(x_2y+6:0) h
L:D ]
10
//
8 L
/#///
g
6 .//,
/
4-
//
Lo 2_
///
////
7 10
B
)
//
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Function02 for No.13667 (continue)

1
1

M
(Eq=[y=—4x+18]] (Eq=[x—-y—-5=0]] ‘;
A=(1,12) A=(0,-5) ,
No2 = B=(4,2) o oNes=| B=(5,-13) | O
C=(3,6) C=(5,0) v
| D=(-1,22) | | D=(2,-7) |
U
| T
Nod : 4.1 > S = 130 , R=5
: 4.2 > S = 8300 , R=23
No5 : N = 27000 , R =9 , Y = 2568
No6 : P = 160 , F = 23000 , V. =140 , N = 180
~ D(p):—17p+7185}
NO7‘[ S(p)=27p + 4765
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Function02 for No.13734

M
. a
NoJ - A=(y=-3x-3) 3=(x+y—-6=0) .5:(y:§+6j , ;l
2=CBx+y+2=0) 4=(y=3x+16) .6=2x+5y+25=0) )
L:D ]
// 4-
/
/ 2-
~ 0 T T
S 5 10
. .
oy 2
el
.
/ <k
P e \
\\.‘
\‘\..\
/ 8- M‘\
B U
\\\_‘-\\
10+ =
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Function02 for No.13734 (continue)

X

1
1

M
(Eq=[y=-3x-3]] (Eq=[3x+y+2=0]] ‘;
A=(-2,3) A=(4,-17) h
No2=| B=(3,-14) |, ,No3= B=(-3,7) S
C=(0,-3) C=(-5,13) v
| D=(5,-18) | L D=(1,4)
U
| 7]
Nod4 : 4.1 > S = 170 , R=5
: 4.2 >SS = 10200 , R =3
No5 : N = 29000 , R =9 , Y = 2571
No6 : P = 140 , F = 23000 , V. = 30 , N = 212
~ D(p):—15p+7360}
NO7‘[ S(p)=26p + 4736
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Function02 for No.13962

M
2x X a
A=Bx—-y+14=0) .32( :_T+7J .52( =§—7J )
Nol = )
2x h
.2:(y:—T+SJ A4=(x+y+7=0) .6=2x+y=0) )
L:D ]
\_ //,0
\ )
VAL
/\ 4_
N
\ / o 5 10
B N
AN e
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Function02 for No.13962 (continue)

— — —M_
2x - - a
Eg=|y=—""+7 Eq=[x+y+7=0]
3 ¢
A=(-1,-5) i
No2=|  A=OH Nl Bo(40) |,
B=(9,13) _ @
C=(L-8)
C=(9,1) _ M
| D=(2,-5) |
| D=(12,-1) | U
L 7]
Nod : 4.1 > S = 180 , R=5
4.2 > 5 = 7400 , R=23
No5 : N = 16000 , R =7 , Y = 2565
No6 : P = 140 , F = 19000 , V. = 60 , N = 232
~ D(p):—21p+7347}
NO7‘[ S(p) =22 p + 4896
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Function02 for No.14470

M
J=(y=—x-3) 3=(3x-2y+14=0) 5=2x-y+18=0)]| ¢
Nol = X , t
2= yz—z—l 4=(x+4y+28=0) b6=(y=—4x-3) h
)
LD
J/.f
/
10+ /
1‘/
\ /
8- /’/
' 10
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Function02 for No.14470 (continue)

1
1

M
(Eq=[y=-x-3]] (Eq=[x+4y+28=0]] ‘;
A4=(0,-3) A=(-16,-2) ,
No2=| B=(-52) | ,No3= B=(8,9) ol
C=(4,-6) C=(20,-12) Y
| D=(-1,-4) | . D=(4,-10) |
U
| 7]
No4 : 4.1 > S = 170 , R =5
: 4.2 >SS =10200 , R =5
No5 : N = 22000 , R =9 , Y = 2567
No6 : P = 120 , F = 20000 , V. =140 , N = 265
~ D(p):—23p+6677}
NO7_[S(p)=18p+4668
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Function02 for No.14561

M
a
NI—[ d=(x-y-5=0) 3=(y=x+2) .5:(y:—4x+16)} t
or= 2=(5x-6y-6=0) 4=(y=2x) .6=(x—4y+28=0)0| &
2)
L:D ]
_,_,..-«-"’/
- i /
L r3
W il =l /
——— ? \
,.«-””fj
i--""'fﬂ 4-
APl \ 5 10
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Function02 for No.14561 (continue)

1
1

M
(Eqg=[y=x+2]] (Eq=[x—-4y+28=0]] ‘;
A=(1,1) A=(-4,8) h
No2=| B=(2,4) | ,No3= B=(20,12) S
C=(-5,-3) C=(-16,3) v
D= D=(-8.4
i (3,3) | i (-8,4) | U
| 7]
Nod : 4.1 > S = 130 , R=5
4.2 > 5 = 7500 , R=23
No5 : N = 23000 , R = 10 , Y = 2568
No6 : P = 120 , F = 23000 , V. = 50 , N = 314
~ D(p):—29p+7247}
NO7‘[ S(p)=17 p + 5269
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Function02 for No.14657

A=(y=-3x-14)

] = 4 x
No .2=(y:—T—2J A=(x+2y+10=0) .6=(4x—y-7=0)

L ALY

CEN
\ \\

I=(y=—=x+4)

M
S=(x+2y+14=0)

b‘gwna

R’

GiIN

N

N, & / NS 10

i NEEEEE
\

\\\

K

N L T
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Function02 for No.14657 (continue)

1
1

M
(Eq=[y=—x+4]] (Eqg=[x+2y+14=0]] ‘;
A:(_276) A:(za_g) ]’l
No2=| B=(-5,9) |, ,No3= B=(0,-7) ol
C=(-4,11) C=(8,-9) v
| D=(3,7) L D=(10,-11)
U
| T
Nod4 : 4.1 > S = 180 , R =14
: 4.2 > S = 7900 , R=14
No5 : N = 27000 , R =9 , Y = 2571
No6 : P = 160 , F = 19000 , V. =70 , N = 212
~ D(p):—16p+7196}
NO7‘[ S(p)=17 p + 4523
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Function02 for No.1l4661

X
Nolz.]:(5x+6y—6:0) .3:()/:— J J

N

\‘\
o dl
e
N
\\\\ 8-
. o

—— . %
\ \\\‘ 6-
\
N

\ h\q‘

b

U
e
\\

4

il

\\\
™~

= (y=-3x-1)
2=(x+4y-16=0) 4=(y=—x+7) .6=(4x—-y+16=0)

IYa

b

'b"\;b‘wa

‘h‘“““-~:§;
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Function02 for No.14661 (continue)

X

1
1

M
(Eq=[y=-3x—1]] (Eq=[5x+6y-6=0]] ‘;
A=(5,-16) A=(18,-15) ,
No2=| B=(2,-7) |, ,No3= B=(0,2) ol
C=(-2,5) C=(24,-19) Y
D: - D: -
L (-3,5) L (-6,6) i U
| T
Nod4 : 4.1 > S = 170 , R=5
4.2 > 5 = 8100 , R=14
No5 : N = 19000 , R = 8 , Y = 2565
No6 : P = 130 , F = 18000 , V. =140 , N = 211
~ D(p):—20p+6470}
NO7‘[ S(p) =19 p + 4481
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Function02 for No.14674

M
A=(x+2y-4=0) 3=(p+3x+14=0) S5=383x+y-5=0) CZ
] = 5x
No .2:( :_7_4j 4=(y=3x-1) 6=(y=-—x-4) [| A
2)
L:D ]
; 10

-10- X
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Function02 for No.14674 (continue)

1
1

M
(Eq=[y=—x—4]] (Eq=[y+3x+14=0]] ‘;
A=(0,-1) A=(-1,-11) ,
No2=| B=(2,-6) |, ,No3= B=(-5,2) ol
C=(4,-8) C=(-4,-1) Y
| D=(3,4) | L D=(1,-17)
U
| T
Nod : 4.1 > S = 160 , R=5
: 4.2 > S = 7900 , R=17
No5 : N = 14000 , R =10 , Y = 2567
No6 : P = 140 , F = 22000 , V. = 50 , N = 248
~ D(p):—17p+6750}
NO7_[S(p):16p+5100
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Function02 for No.14676

M
I=(x—y+4=0) 3=(y=3x+3) S=(4x+y+20=0)]| ¢

Nol = 5x X , !
2=|y=—""-5| 4=(5x+4y+12=0) .6=|y=—+3 h

4 3 ,

)
LD
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Function02 for No.1l4676 (continue)

— — —M_
X - - a
Eq={y=g+3} Eg=[4x+y+20=0] ;
y : A=(1,-24) 5
No2 = =(-9,-1) . No3= B=(4,-37) o
B=(6,5) B @
B C=(-1,-17) Y,
€=(0,3) | D=(2,-12) |
D=(-150) U
L T |
Nod4 : 4.1 > S = 150 , R =06
4.2 > S = 9400 , R=17
No5 : N = 19000 , R = 10 , Y = 2568
No6 : P = 120 , F = 23000 , V. = 50 , N = 328

N7 — [D(p) =20p+ 7610}
S(p)=21p+4617
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Function02 for No.14694

M

I=Qx+y-2=0) 3=(y=2x+20) S=(x+y+1=0)||“

Nol = 2y , t
2=(y=-2x-6) A=(x-4y-12=0) .6=|y="T+1]|[|

L:D ]

/
/ i

. " g .
vl

RN A P

/

/ _ ! <
A N Lt
/'/
Pl
/'/
=B

",-"""
/ A4

o .
N

"
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Function02 for No.14694 (continue)

1
1

] _ M
2x - - a
Eq= y=T+1 Egq=[x+y+1=0] ;
P A=(-1,0) h
No2 = =0.3) 1 Nez=|  B=(2,3) | .
B=(-12,-7) B @
C=(3,-1)
C=(15,11) _ M
| D=(4,-8)
D=(-6,-2) | U
LT
No4 : 4.1 > S = 170 , R =3
: 4.2 > S = 8800 , R=23
No5 : N = 14000 , R =7 , Y = 2566
No6 : P = 180 , F = 23000 , V. =140 , N = 152

D(p)=-25p+ 6375}

N07:[
S(p)=13p+4513
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Function02 for No.14705

A=(y=2x-3)

Mﬂ:[z:u—y—3=m

3=(y=2x+18)
A4=(y=-2x-3)

10

.5:(x—2y+10:0q
b6=(4x+5y-5=0)T

-10-
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Function02 for No.14705 (continue)

1
1

M
(Eq=[y=2x+18]] (Eq=[x—-y—-3=0]] ‘;
A=(4,25) A=(5,-1) ,
No2=| B=(0,18) | ,No3= B=0) | .o
C=(-1,18) C=(1,-1) Y
| D=(3,12) | . D=(2,-1) |
U
| 7]
Nod4 : 4.1 > S = 140 , R =5
: 4.2 > S = 8800 , R=17
No5 : N = 24000 , R =11 , Y = 2569
No6 : P = 160 , F = 23000 , V. = 50 , N = 196
[D(p)=-27p+ 8247}
NO7‘[ S(p) =14 p + 5746
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Function02 for No.14715

M
a
NI_[.]=(3x+y+4=0) 3=(5x-3y=0) .5=(x—4y—20=0)} t
OCTl 2=(y==x-1) 4=(y=3x+15)  6=(y=—x-6) | h
2)
L:D]
a_
6_
4_
2/,
5 10
2- ——
.,ff”’fwf/,
,a—-"’/

/-"/;
—" 1
o
[
|

Bt 8- \
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Function02 for No.14715 (continue)

1
1

M
(Eqg=[y=-x-6]] (Eq=[3x+y+4=0]] ‘t‘
A=(-2,-4) A=(-4,8) ,
No2=| B=(5,-10) | ,No3= B=(,-13) |2
C=(1,-7) C=(2,-7) v
D: - 1 D: -1 -1
L D=(51) : (- g
T
Nod4 : 4.1 > S = 180 , R =14
: 4.2 > S = 8000 , R=17
No5 : N = 13000 , R = 10 , Y = 2571
No6 : P = 130 , F = 17000 , V. = 50 , N = 209
~ D(p):—29p+7775}
NO7‘[ S(p)=17 p + 4325
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Function02 for No.14716

M

1 2 14=0 3 ( = lj 5 ( ﬂj ;

NOI:.—(x+y+—) 3=\y=-7- DEYETS }fl

2=3x+y-15=0) 4=2x-y—-2=0) .6=(y=x+6) )

LD ]

10
- -
-10-
\
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Function02 for No.14716 (continue)

1
1

M
(Eq=[y=x+6]] (Eq=[3x+y—15=0]] ‘;
A=(-4,2) A=(-3,24) ,
No2=| B=(4,10) | ,No3= B=(0,15) S
C=(2,8) C=(1,15) Y
| D=(-5,0) | L D=(-1,18)
U
| T
Nod4 : 4.1 > S = 160 , R =25
: 4.2 > S = 10400 , R =5
No5 : N = 20000 , R =5 , Y = 2566
No6 : P = 160 , F = 17000 , V. = 30 , N = 117
~ D(p):—14p+7466}
NO7‘[ S(p) =13 p + 5603
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Function02 for No.14752

A=(x-y+6=0)
Nol =

2=(y=x-9)

M

3=(y=4x-3) 5=(2x-3y+6=0) ‘;
X

4=Bx+y-19=0) b6=ly=—"-3 | h

4 .

2)

LD
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Function02 for No.14752 (continue)

1
1

M
(Eq=[y=x-5]] (Eq=[3x+y-19=0]] ‘;
A=(-2,-4) A=(-1,22) ,
No2=| B=(3,-8) | ,No3= B=(4,7) S
C=(0,-4) C=(1,17) Y
| D=(-4,-9) | . D=(3,10)
U
| T
Nod4 : 4.1 > S = 150 , R =14
: 4.2 > S = 9600 , R=17
No5 : N = 29000 , R =11 , Y = 2568
No6 : P = 170 , F = 23000 , V. = 30 , N = 164
~ D(p):—25p+7250}
NO7‘[ S(p) =28 p + 3434
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Function02 for No.14775

.]:(y:—x+4) .3:(5x—6y+30:0) -5:(_)/:2X+4) a

Nol = X ’ t
2=+x-3=0) A=\y=7 6=2x+y=19=0)[| h

D

\"\
P
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Function02 for No.14775 (continue)

M
(Eq=[y=-x+4]] [Eq=[5x-6y+30=0]] ‘t‘
A=(-2,6) A=(24,-15) ,
No2=| B=(-59) | ,No3= B=(12,12) e
C=(-1,5) C=(0,5) Y
| D=(4,-2) | L D=(18,20) U
| T
Nod4 : 4.1 > S = 170 , R=5
4.2 > 5 = 8100 , R=14
No5 : N = 16000 , R = 6 , Y = 2570
No6 : P = 160 , F = 19000 , V. = 50 , N =171
~ D(p):—20p+8210}
NO7‘[ S(p)=27p + 5014
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